
  
  

  اثبت أن :
  
  =   ٢)ن قن (.....+. +٢) ٢قن +( ٢) ١قن ( + ٢) صفر قن (
  
  

  الحلـــــــــــــــــــــ
  

  ن٢+ س )  ١=   (    ن+ س )  ١×   (  ن  + س )  ١(       بم     
  
  نس  ن قن  + +٠٠٠٠٠٠٠٠+ ٢س  ٢ق ن  س +  ١ق ن  + ٠ق ن  =  ن+ س )  ١( 

  
   ن  + س )  ١( في المفكوك  ن الحد المشتمل علي  س 

  
  رس ر ق ن =  ١ر+ح    

  
  في الطرف الأیمن: ن الحد المشتمل علي  س 

  ١ق ن ×  نق ن  +٠٠٠٠٠٠٠+  ٢-نق ن ×  ٢ق ن +   ١-نق ن ×  ١ق ن + ن ق ن ×  ٠ق ن  
  نق ن ×  نق ن  +٠٠٠٠٠٠٠+  ٢ق ن ×  ٢ق ن +   ١ق ن ×  ١ق ن + ٠ق ن ×  ٠ق ن  =    
  ٢)نق ن (  +٠٠٠٠٠٠٠+٢) ٢ق ن + ( ٢) ١ق ن + ( ٢) ٠ق ن =(     
  

  في الطرف الأیسر: ن الحد المشتمل علي  س 
  

  = ن   قن ٢=      
  
  
    
  =  ٢)نق ن (  +٠٠٠٠٠٠٠+٢) ٢ق ن + ( ٢) ١ق ن + ( ٢) ٠ق ن (    إ 
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 ٢)   (   ن

 ن ٢
 ٢)   (   ن 
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